Lecture 7
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Examples of produd rok, 1\&0“’*%\'\’ role, wrd chain role

A) 6€° E) 9¢°
B) 12¢° F) 18¢°
3

3 e

Q) 4e 6) —

D) 10¢&° f) 5¢°

Find /*(2).

A) 1/10 E) 1/30

B) 1/8 F) 1/20
C) 1/40 G) 1/50
D) 1/5 H) 1/8
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Lecture 7

Nowdon's Method  (Apphahins o Lincaritation)

More formally, this is what is called a difference equation. Given an initial guess, called &y, of a root of the
function, one uses the update rule

flzn)
fza)

Trpil = Tp

to get '], and then 9, and so on.
The resulting sequence hopefully converges to a root of f Graphically, what is happening is as follows:

. Pick a guess Ty).

. Find the tangent line to f through the point (g, f(xzq))-

. Let &' be the point where the tangent line intersects the -axis.
. Repeat steps 2 and 3 (see the figure).
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